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TIME: 2 HOURS

INSTRUCTIONS:
ANSWER QUESTION ONE AND ANY OTHER TWO QUESTIONS

QUESTION ONE
A) The accounting profession has for a long time relied on certain accounting conventions to guide accounting practice. Yet the application of the sane conventions has been the source of criticism of the quality and relevance of information contained in financial reports.

Some of these conventions include:

(a)
The business entity principle.

(h)
The historical cost principle.

(c)
The monetary principle.

(d)
The matching principle.

Required:

For each of the principles listed above:

(a) Explain its meaning.                                                                                                (4marks) 

(b) Justify its use.                                                                                                            (4marks) 

(c) Explain any weaknesses associated with its use.                                                     (4 marks) 


                                                                                                         (Total: 12 marks)

B) The following trial balance was extracted from the books of R.Giggs at the close of business.

 Dr

                             Cr


Purchases and sales


3726060
                         4,904,520

Cash and bank



    94920

Proceed from sale of motor vehicle
 


           115,000
Capital A/C/March 2006



                      1,216,260
Drawings



128,800
Motor vehicles at cost                          580,000




Rent and rates



52,800
Wages & Salaries


496,080
Rent received





                                   45,000
Debtors & creditors


476,160
                                 327,720
Inventory / March 2006

556,440

Premises (cost)
                   
600,000


Motor expenses

        
51660
Electricity


        
 14,760
Provision for doubtful debts                                                                             19,560

Insurance                                            10,320       






General expense                              
55,980
Provision for  dep motor vehicles                                                                   216,000

Notes:
a. Inventory as at 31 october 2010 was valued at, Kshs 593,040
b. Wages & Salaries accrued at 28th Feb 2007, Kshs.340

c. Rent and insurance were prepaid to the extent of Ksh , Kshs2400 and 2,820 respectively as at 31 October 2010
d. Rent receivable as at 31 October 2010 was Ksh 15,000
             e. Allowance for doubtful debts to be adjusted to 5 % of the debtors remaining after taking               into account that 20,160 of debtors were to be regarded as bad  

f. Depreciation has been and is to be charged on motor vehicles at the rate of 20%p.a

h. Electricity due as at 31 October 2010 amounted to Ksh 6,000 
 i. In November 2009, a motor vehicle which had been purchased for ksh.160,000 on 1 November 2006 was sold for ksh, 115,000. The only record of this disposal is the entry in the proceeds from sale of motor vehicle account

Prepare
a. Trading, profit and loss account for the year ended 31 October 2010( 10 marks)

 b Balance sheet as at 31 October 2010.


                (8mks)
QUESTION TWO 
(a) Explain the advantages of maintaining control accounts.                                    (6 marks)

(b) The following balances were extracted from the books of Katee Ltd. for the month of April 2005:

	
	Sh.’000

	Debit balances (1 April 2005): Sales ledger
	1,428,000

	                                               Purchases ledger
	10,500

	Credit balances (1 April 2005): Sales ledger
	40,500

	                                                Purchases ledger
	553,800

	Discounts received
	142,500

	Discounts allowed
	209,700

	Purchase (including  cash purchases of Sh.152,000)
	1,334,000

	Cash sales
	618,000

	Credit sales
	2,068,200

	Credit notes issued to customers for returned goods
	75,000

	Sales ledger debit balances off-set against purchases ledger
	36,900

	Payment to creditors
	1,159,200

	Interest charged by creditors on overdue accounts
	69,000

	Receipt from customers
	1,578,000

	Bad debts written off
	37,200

	Customer’s unpaid cheques
	26,100

	Interest charged to customers on overdue accounts
	96,100

	Debt collection expenses charged to debtors
	10,800

	Credit notes received from suppliers
	26,700

	Balances as at 30 April 2005: Purchases ledger (debt)
	14,400

	                                             Sales ledger (credit)
	50,700


Required:
(i) Sales ledger control account for the month ended 30 April 2005.                          (7 marks)

(ii) Purchases ledger control account for the month ended 30 April 2005.                  (7 marks)

QUESTION THREE

(a) Briefly explain the following types of errors:

(i) Error of commission                                                                                           (2 marks)

(ii) Error of principle                                                                                               (2 marks)

(iii) Complete reversal of entries                                                                              (2 marks)

a. (iv) Compensating errors                                                                                         


b. Your book-keeper extracted a trial balance on 31st December, 2009 which failed to agree by Kshs.330, a shortage on the credit side of the trial balance. A suspense account was opened for the difference.

In January 2010, the following errors made in 2009 were found

i. Sales day book had been under cast by £1,000.

ii. Sales of 250 by J. Kariuki had been debited in error to M. Kariuki’s account

iii. Rent account had been under cast by 70

iv. Discount received accounts had been under cast by 300

v. The sale of a motor vehicle at book value had been credited in error to sales account Kshs.360

Required:

a. Show the journal entries necessary to correct the errors  (2marks)  
b. Draw up the suspense account after the errors described have been corrected(4mks)

c. (a)
Briefly explain why the following parties may be interested in the financial statements of an organization:











                             (i) Employees





(2 marks)


                 (ii) Financial analysis




(2 marks


                 (iii) The Government.




(2 marks)

                         (iv)  The public.




           (2 marks)

QUESTION FOUR
(a) The bank statement and cashbook balances should agree, but sometimes these balances may not agree:

Required:
Discuss this statement and explain why it is important to prepare a bank reconciliation statement.                                                                                                               (8 marks)

(b) On 31 October 2004, the cashbook of Mwea Enterprises Ltd. Showed a debit balance of Sh.1,710,000. This did not agree with the balance shown in the bank statement.

Upon investigation, the accountant discovered the following errors:

1. A cheque paid to Kindaruma for Sh.306,000 had been entered in the cashbook as Sh.387,000

2. Cash paid into the bank by a customer for Sh.90,000 had been entered in the cashbook as Sh.81,000

3. A transfer of Sh.1,110,000 to Central Savings Bank had not been posted to the cash book.

4. A receipt of Sh.9,000 shown in the bank statement had not been posted in the cashbook.

5. Cheques drawn amounting to Sh.36,000 had not been paid into the bank.

6. The cash book balance had been incorrectly brought down at 1 November 2003 as a debit balance of Sh.1,080,000 instead of a debit balance of Sh.990,000

7. Bank charges of Sh.18,000 do not appear in the cash book.

8. A receipt of Sh.810,000 paid into the bank on 31 October 2004 appeared in the bank statement on 1 November 2004.

9. A standing order of Sh.27,000 had not been recorded in the cash book.

10. A cheque for Sh.45,000 previously received and paid into the bank had been returned by the customer’s bank marked “account closed”.

11. The bank received a direct debit of Sh.90,000 from an anonymous customer.

12. Cheques banked had been totaled at Sh.135,000 instead of Sh.153,000.

13. A cheque drawn in favour of Nyaga for Sh.120,000 had been entered on the debit side of the cashbook.

Required;
(i)  Adjusted cash book as at 31 October 2004.                                                             (6 marks)

(ii)  A bank reconciliation statement as at 31 October 2004.                                          (6 marks)

                                                                                                                       (Total: 20 marks)

